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  BLM 4–6  
Extra Practice

1.
Solve for (, where 0 ( ( ( 360(.
a)
cos ( ( 0.5 ( 0

b) 
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c)
2 sin ( ( 1 ( 2

d)
sec ( ( (2

2.
Solve for x, where 0 ( x ( 2(.
a)
cos2 x ( 0.25 ( 0

b)
4 sin2 x ( 3 ( 0
c)
(sin x ( 1)(tan x ( 1) ( 0

d)
2 cos2 x ( 5 cos x ( 2 ( 0

3.
Determine the exact roots for each trigonometric equation in the specified domain.
a)
sin2 x ( sin x ( 2 ( 0, (180( ( x ( 180(
b)
2 cos2 x ( 3 cos x ( 1 ( 0, 0 ( x ( 2(
c)
cos x ( 2 sin x cos x ( 0, (( ( x ( (

4.
Solve each equation for 0 ( ( ( 2(. Give solutions to the nearest hundredth of a radian.
a)
tan ( ( 4.36
b)
cos ( ( (0.19
c)
sin ( ( 0.91
d)
cot ( ( 12.3

5.
Verify that 
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 are solutions to the equation sin2 ( ( 1 ( 0.


6.
Does cos ( ( 2 have a solution? Explain.


7.
Solve each equation for 0 ( x ( 2(, rounding solutions to four decimal places.
a)
5 tan2 x ( 2 tan x ( 7 ( 0

b) tan2 x ( 5 tan x ( 6 ( 0
c)
tan2 x ( 4 tan x ( 0

8.
The solution to cos ( ( 1 in the domain
0 ( ( ( 2( is ( ( 0. Write the general solution for the equation in which the domain is real numbers.

9.
Write the general solution for the equation sin x (sin x ( 1) ( 0.
10.
Write the general solution for the equation
4 sin2 x ( 2 sin x ( 2 ( 0.
11. The point D(5, –12) lies on the terminal arm of an angle ( in standard position. What is the exact value of each trigonometric ratio for θ?

12. Draw each angle in standard position. In what quadrant does each angle lie?

a)
215(
b)
70(
c)
110(
d)
300(

13. Change the degree measures to radians. Give answers as both exact and approximate measures to the nearest hundredth of a unit.

a)
150(
b)
240(
c)
45(
d)
310(
14.
Change the radian measures to degrees. Round to two decimal places if necessary.

a)
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c)
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d)
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15. A circle with a radius of 16.2 cm is drawn on a large piece of cardboard. A central angle of 74( is drawn. What is the length of the arc subtended by this angle, rounded to the nearest tenth of a cm?

16.
The radius of a circle is 7 cm, and the length of an arc on the circle is 10 cm. In radians, what is the central angle that subtends this arc length? Give your answer to the nearest hundredth of a unit.

17. For each of the following sinusoidal functions, determine the amplitude and period.
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18.
Consider the graph of y  3 cos 2x.
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Write the equation of this graph as a 
sine function that has undergone a phase shift left.
19.
For the given graph, determine

a)
the amplitude
b)
the vertical displacement
c)
the period
d)
its equation in the form
y  a cos b(x  c) ( d
e)
the maximum value of y, and the values of x for which it occurs over the interval 0 ≤ x ≤ 2(
f )
the minimum value of y, and the values of x for which it occurs over the interval 0 ≤ x ≤ 2(
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20.At the bottom of its rotation, the tip of the blade on a windmill is 8 m above the ground. At the top of its rotation, the blade tip is 22 m above the ground. The blade rotates once every 5 s.
a)
A bug is perched on the tip of the blade when the tip is at its lowest point. Determine the cosine equation of the graph for the bug’s height over time.
b)
What is the bug’s height after 4 s?
c)
For how long is the bug more than 17 m above the ground?
1. a) 60°, 300°  b) 120°, 300°
c) 30°, 150°  d) 120°, 240°
2. a) 
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c) 
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  d) 
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3. a) 
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4. a) 1.35, 4.49  b) 1.76, 4.90
c) 1.14, 2.00  d) 0.08, 3.22  
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6. No. Example: The range of the cosine function is [(1, 1]. Cosine is undefined for values that are outside of this range.
7. a) 0.7854, 2.1910, 3.9270, 5.3326

b) 1.1071, 1.240, 4.2487, 4.3906

c) 0, 1.3258, 4.4674
8. 2(n, 
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11. 
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12. a)  
   quadrant III
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b) 

quadrant IV

[image: image44.jpg]90°

180° -

270°

—-70°



c) 

quadrant II
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d) 

quadrant I
13. a) 
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2.62  b) 
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c) 
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0.79   d) 
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14. a) 144°  b) 150°  c) 123.75°  d) (315°

15. 20.9 cm

16. 1.43 radians

17. a) amplitude  
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b) amplitude  2, period  
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18. Example:
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19. a) 5   b) 4   c) 
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   d) y  5 cos 3x  4
e) y  1 for x  0, 
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f ) y  9 for x  
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4. 
a) b(t)  ( 7
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b) b(4)  12.8 m

c) 3.52  1.48  2.04 s
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